SIMPLE INTEREST

N

OLD 3 2.5

Simple Interest :
NEW 3 24,25

~J

e Principal is the money borrowed or lent.

e Interest is the additional money given by the borrower to use the principal
for a certain period of time

e Rate of interest is the percentage of the principal paid every year.
e Time is the period for which the money is borrowed or lent.

e Amount is the total money returned by the borrower to the lender after a
certain period of time. It is found by using Amount = Principal + Interest.

e Simple interest can be calculated by using Pxnxr

, where P - Principal, » -

Rate of Interest, n - Time.

SIMPLE INTEREST WORK SHEET

1. Find the simple interest I 25,000 at 8% per annum for 3 years?
% 25,00086@ 8% au'lp eisld 3 uwiBosEndEGHH SHalal g Hrewis?
a.< 600 b. X 6,000 c.< 60,000 d.< 7,000

2. Arjun borrowed a sum of X 5,000 from a bank at 5% per annum. Find the
amount to be paid at the end of three year.
ofeyrer @b aumPulmhaA opehEsEG 5% el eisd I 5000ms  sLarTall

QuBMIT. paiiml  opewihFeller  (palsd Seuf OCFshsd Geusmigwl GLTHHS
OFHTENHEMUI  HITCIIS.

a.x 5,750 b.X 5,500 c.X 6,500 d.< 4,500
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3. Shanti borrowed ¥ 6,000 from a Bank for 7 years 12% per annum. What
amount will clear off her debt?
gihd @ aumAWHhE, pWibsGH 12% ey eisd I 6,000 7
W (BHEHHGHD SLOMHBL CUBBTT eTefled, 7 DEWIBHET HPHFH iG] 6161666
LI SHMSF CFISHSHNTED HL T H(HLD?
a.< 5,040 b. % 11,040 ¢.< 11,050 d.< 4,530

4. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per
annum is X 750. Find the sum.
GWiGeaied @ GUIII LS OFTensdsd 10% ey oipd 2 opeiBaer SPHH
75080 SHlleul RUITEF CFVISHIHRITED, DIFN6VDH HTENISH.
a.< 3,500 b. < 3,900 c.< 4,000 d.X 3,750

5. Find the simple interest on I 35,000 at 9% per annum for 2 years?
T 35,0003 uwwibsEd: 9% el waisd Syewih aiibEehdGH Halau gemuid
SBITGWIb.

a.< 6,300 b.X 6,700 c.X 6,500 d. < 6,900

6. Basha borrowed X 8,500 from a bank a particular rate of simple interest.
After 3 years, he paid X 11,050 to settle his debt. At what rate of interest he
borrowed the money?

UTC Q9T eleiilied] e  eumduledmbasl @ GEIILL iy eissbded
8,500mas &sLamall QUBDBT.  pSim  ibseT BPGHH Deuf I 11,050mF
CFVISHFHH HLMEOT DML SHFHT] 6leled aUlly QiHLD 6leileUeTe),|?

a.5% b. 10% c.15% d. 20%

7. A sum of Y 48,000 was lent out at simple interest at the end of 2 years and 3
months the total amount was < 55,560. Find the rate of interest per year.
sLamd aupmislill L oFe < 48,00063 2 uMiBseT 3 ITHE STOSHBGL
et seflau’ g cpeold QUL Gordsdh HTens X 55,560 o5 B HHHH senev,
ALY HHNHDH HTEWIH.

a.5% b. 6% c. 8% d. 7%

8. Which among the following rate of interest yields an interest of I 200 for the
principle < 2,000 for one year.
Uateumd el aiddbded  eaxm X 2,000 osg @imawibsd X 200
SN QUITES CBTHEHBEHIQUSTES E(HHGLD?
a.10% b. 20% c. 5% d. 15%

9. Riya bought < 15,000 from a bank to buy a car at 10% simple interest. If she
paid X 9,000 as interest while clearing the loan, find the time for which the
loan was given.
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10.

11.

12.

13.

14.

15.

16.

(APR& 11|

CHENNAI

fwm elediueuy waWhHe aummiGausBasTa X 15,000 10%selaul g 6am aissHde0
asLamal Quppry.  oeuy X 9,000ms sLemer (IPIHGD  SHHUTUNED, UL IQUITEF
CFISHIH T 6l6TleD, HL w6l LIWSLBGHH U HTeLHmHDH H6wihd([Hdb.

a. 5 years b. 3 years c. 7 years d. 6 years

In simple interest, a sum of money doubles itself in 10 years. In how many

years it will get triple itself.

Sl 1puled @ SIFL 10 emihdelled E(H L MISTEIT0 DbhdH DIF60
(PIDIOL MBS OTHBIUSBE DIGV6VH 2 WI(HUSBE 615HHM6T HENI(BEH6T DGLD?

a. 15 years b. 20 years c. 30 years d. 35 years

In simple interest, a sum of money amounts to I 6,200 in 2 years and < 6,800
in 3 years. Find the rate of interest.

Qb O0xTmsd @h GMBILLICL SR  aiHHHe0 2 opewiBsefley I 6,200
aaad, 3 oewihsefso I 6,800 erateyd o wWiFHmEH ealed ey eiHHMmB
ST,

a. 10% b. 12% c.15% d. 8%

In a principal is getting doubled after 4 years, then calculate the rate of

interest.
R SFuneigH 4 EWIBHN60 DTwiB WLMSTHBH  6laled, aI'ly iHHMBHH
BTG .

a.20% b. 30% c.25% d. 15%

A sum of X 46,000 was lent out at simple interest and at the end of 1 year and
9 months, the total amount was < 52,440. Find the rate of interest per year.
oiFe0 X 46,000 1 oewih 9 WIS HTLSIHBGL LUIBG Safau'ly cpeold
Qurshsd Ostmaswns I 52,4405 2 Wihsal 6aied, ally aiGHmEHE STEms.
a.6% b. 7% c. 8% d. 10%

A principal becomes X 10,050 at the rate of 10% in 5 years. Find the principal.
Q7 o gahse 10% ary elpsH 5 gemkseied I 10,0509
® WIhDHH 61eN60, DIFEN6VDH HT6HISb.

a. 3,350 b.X 3,700 c.X 6,700 d.< 6,000

Radhika invested I 5,000 for 2 years at 11% per annum. Find the amount
received by him at the end of 2 years.

ITHBT ewigB& 11% ey eispddHed I 5,000 2 wiGsEndGH (WHH
CQFWIHEBTT. GT6RILTD SLewNgal (Lpaled Siauf OUBID OHTNHMUI HTEWIS.

a. 36,100 b.X 6,300 c.< 6,500 d.< 5,100

Find the amount due on< 7,500 at 8% per annum for 1 year 6 months.
R 7,5005@ 8% aul'lp aipd @ UHBLID 6 IDTHHIGEHHBTE CHTEHHMUI BT6UHIS.
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17.

18.

19.

20.

21.

22.

23.

a.< 9400 b. X 8400 c. < 8000 d. < 9000

Find the simple interest due on < 6,750 for 219-days at 10% per annum.
% 6,7505@ 219-pm sehdd 10% ey oisd sala genul Hrembs.
a.¥ 550 b. < 450 c.< 500 d. I 405

Rahul borrowed X 4,000 on 7t of June 2006 and returned it on 19t August
2006. Find the amount he paid, if the interest is calculated at 5% per annum.
gTGeo 7-6-2006 oeim X 4,000 sLamal QUBp Send 19-8-2006 SIS (HIDLI
OEVE L 5% eisb ey SesSHLLULLTO Seu] CFsbiu  CFTms
616116)6116Y] ?

a. < 4000 b. X 3600 c.< 4400 d. X 4040

A sum of money triples itself at 8% per annum over a certain time. Find the
number of years.

R GPUILL oFeTaig 8% eailly aidHHed ebHHmer  Lemi(hdeiled  LpeIs)
LOL_MBIBTGLD 616018  HIT6u0IH ?

a. 20 years b. 10 years c. 25 years d. 15 years

A certain sum of money amount to X 8,880 in 6 years and I 7,920 in 4 years
respectively. Find the rate percent.

o GHIMILL ggneig 6 omibseisy I 8,880 sumaid 4 oewiGseiey
7,920 symeyd WrBI@BH eefled ey aiHHmBHdH HTEwH.

a.8% b. 10% c. 7% d. 9%

Sathya deposited X 6,000 in a bank and received I 7500 at the end of 5 years.
Find the rate of interest.

gswur X 6,000 @m amduled QFaushd 5 opeihaefar (gealed I 7500
QuUBMTT 6Tele0, AU AIHHMBHDH HTEHISH.

a.3% b. 5% c.7% d. 10%

Find the principal that earns I 250 as S.I. in 2%years at 10% per annum.

10% eumL eully aigsHHe0 2%&6@@5@@ I 250 e uimtess SHHD  OiF6e

OFHTENHMUISH SHT6EMIb.

a.< 500 b.X 750 c.< 1000 d.X 1500

A sum of money doubles itself at 12% % per annum over a certain period of

time. Find the number of years.
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24,

25.

26.

27.

28.

29.

[APR®L0)
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R OHTMHWITRIH 12%% eih ol lg aiBSH0 @H GEIILL S ewIHHeTe0

Sl linaBgl.  SLeIBHH66  6T6uT6mI HenHENUIS HTEHISH.

a. 8 years b. 10 years c. 12 years d. 15 years

Find amount on X 3,600 at 15% p.a. for 3 years and 9 months.
X 3,6006@ 15% e’y aieshded 3 ewiGHeT 9 WTHHH0 GUBLLGD CBTemBHmu
BT,

a.xX 5,168 b.X 5,625 c.X 5,805 d. < 5,300

Find the principal that earns X 2,080 as S.1. 3%111 years at 16% p.a.

16% ey eaissHHe0 3% opemihsefled I 2,080 euluimed HHD  DIF6D

OFHTENHMUISH SHT6MIb.

a.< 5000 b. X 40,000 c. < 4000 d. < 14,000

Find the rate percent at which, a sum of money becomes %times in 2 years.

R  DFOTAIH 2 UIHLSHIH6L %Lol_rsjasrraa GO0, DIHET UL IgAIBHHLID

QRILIRIGTYY
a.62.5% b. 72.5% c. 100% d. 50%

A man invested %of his capital at 7%, %at 8% and the remainder at 10%. If

his annual income is ¥ 561, the capital is

Q[ DNBHET HAGH! CLPGVSH6THH 60 %urfuanas 7% aul'lg ai®HHHeud iurfm)as 8%

algssHFHed, WBapstenensd 10% aissdHed (WHeSh CFUSBIT.  DleugdHl 6UHL
QITHDTRND X 561 6Tafled SIQUTHI CLPEOSHEILD.
a.< 5,400 b.< 6,000 c.X 6,600 d.< 7,200

Vaideesh deposits I 500 at the beginning of every month for 5 years in a post
office. If the rate of interest is 7.5%. Find the amount he will receive at the
end of 5 years.

amaugbed elelien] X 500 @eICeUT(h WTHH OBTEEHHNID @T DiehFeodHHe0 5
T HBEHHGHF QFISHBBTT.  au'lp aiFHd 7.5% ealed 5 SLeBIBHeNT (Wgailed
Slau] QumId CFHTend 6666167

a.< 35718.75 b.X 37518.75 c. 37581.75 d. 35817.75

The simple interest on a sum of money is % of the principal. Find the rate

percent and time if both are numerically equal.
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b GBPUIL OxTmsulesr Sl lpuimerdl  DIFedler %LDLFEI@&S@ &LDLD.

QUL YRISH(IPD, eUIHLPLD 66w WFHLILTND &FOWTE SHBGHWEUTH Ul ly aiHHMBUD
QU(HL SHENSBUD  SHITCU0I.

a. 8%%, S%years b. 7%, 7 years

C. 7% %, 7%years d. 8%, 8 years

30. Mr. Thomas invested an amount of Rs. 13,900 divided in two different
schemes A and b at the simple interest rate of 14% p.a. and 11% p.a.
respectively. If the total amount; of simple interest earned in 2 years be Rs.
3508, what was the-amount invested in Scheme B ?)

HToerD  eleieuT ep 13,900 & @yewinsll Ufiss A wwppw B eaem &
QeuaiBaum FHLmiBeled (pHeSh OFuidmmr. A HLsHed 14% e paissdlelb,
B diiLsded 11% ey aigpd Gsmemi(h seuadl UG Gursl HomLé@ld aullg
am 3508 ei@ied 'B" e1aiim3 HL S0 1pFHeSB CFUIH OFHTens eleiialene,?

a. Rs 6400 b. Rs. 6500 c. Rs. 7200 d. Rs 7500
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